12

Loom Assembly CYCLOOMOO1

Scale 1:3

Replacement Lamp
Socket Assembly

42

[«

PART NO / DESCRIPTION

CYCPLAOO08 End Cap Right

CYCEXTO00S5 Top Extrusion 210mm

CYCEXT006 Bottom Extrusion 210mm

CYCEXT007 Back Extrusion 210mm

CYCPLAOO08 End Cap Left

CYCEXT011 Cyc Glass Clip

CYCSPRO02 Glass Clip Coil Spring

CYCLENQO2 Glass Plate

Oo N[ [~ [ [ST==

CYCEXT004 Cyc Glass Holder

=

COMELEQQ1 Micro-switch

Screw 6 x 1-2 Self Tapping

12

COMELEO49 Crimp Lug

13

screw 3.5x 10

CYCYOK008 Acclaim Cyc and Flood Yoke

PACMET002 Yoke locking disc

CYCMET002 Yoke Spacer

17

1200METO012 Yoke Spacer 8mm

M10 SS Wavey Washer

CYCPLAO12 Lockoff Knob

Bolt M10 x 25 Coach bolt

Flat Washer M10

ACCPLAOO1 Two Bar Locking Knob

Flat Washer M8

Spring Washer M8

bolt M8 x 30

Washer M5 Lock

Nut M5 Hex

screw mbx 16

screw m5 x 12

CYCPLAO11 Washer Red Fibre

CYCPLAOO1 Colour Cassette End Cap Set

CYCEXT009 Colour Cassette Bottom

CYCEXTO010 Color Cassette Top

CYCEXT012 Colour Cassette Clip

CYCSHTO11 Cyc Colour Cassette Baffle

COMSPROO1 Spring Conical

CYCSHTOO? Filter Clamp Frame

Screw 6 x 1-1-4 Self Tapping

CYCEXTO001 Cyc Reflector

CYCSHT005 Reflector End Plate Cyc Left

CYCSHTO00S5 Reflector End Plate Cyc Right

CYCELEQ02 Acclaim Lampbase

N
w

Screw 6 x 3-8 Self Tapping

Washer M4 Lock

N
<

COMELEQ13 3 Core Cable 0.75mm

16

COMELEQ48 Terminal Nickel

47

COMELEQS6 Terminal Insulation Cover

48

Lamp Cable 0.75mm core

49

COMELEQ¢4 Silicon Sleeve émm

SELECON NEW ZEALAND, 19-21 KAWANA STREET, NORTHCOTE,
AUCKLAND 1310, NEW ZEALAND. Phone 64 9 4810100, Fax 64 9 4810101

< r—i1 —
s _uwL_v¥L_

www seleconlight.com

s « YN 1
N1\

12ACCYC Acclaim Cyc

SHEET 1 OF 1

SCALE 1:5

DRAWING SIZE A4

DRAWN: AW.L

UNLESS STATED OTHERWISE

DIMENSIONS IN SQUARE BRACKETS ARE IN
INCHES, ALL OTHERS ARE IN MILLIMETERS




